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SM: 2sBaY
. 2sRMEEDL
el StraEEae chel R e
SN HE - SI(E) - NRAY - BES &k oy e =2
RS e =1 18,800& * 12& 226
xotl+ = 160& = 30m * 12& 58
-AE2 M BEEs= 500,000& * 13l 500
— ANDIH & 23 eHLH2HEE 22| 3,907
AW DIt 697
o= ER3(IEE) 160& » 30m * 123 58
®&EI23 5,320 » 10kN » 123 639
23 QUM E MRS 3,210
®I2R= 5,320& * 6KW = 12& 384
KALEZ 94,203 * 2,500kW x 123 2,826
OA& EHHI R XY 2,727
— S M= WHI RFFL 2,727
- YR 1,390& * 200 £ = 3CH = 32 2,502
- BER 3,000& * 258 * 3CH 225
202 O4dl 5,940 3,600 2,340
01 =UW0oidl 5,940 3,600 2,340
O23Mg R =&l 165,000& = 3% * 12&8 5,940
203 YRF=&Hl 750 1,200 A 450
03 AIMFAAHRZ=EY] 750 1,200 A450
O2stMzelgde =& 150,000& * 53| 750
401 AlEHIZL 204G 130,000 150,000 220,000
01 Al&HI 130,000 150,000 A.20,000
O23M RANE= 50,000,000& 50,000
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SA SaRBY
M BoriEE2C
&2l EeRaEESZC (chel: =2
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
OE=aM 2= = 50,000, 000& 50,000
OHSME RlE= 30,000,000& 30,000
I NKNE =23 E+AS 2,476,000 3,227,857 AT51,857
= 1,548,000
& 352,000
i 576,000
101 QI24H| 56,000 0 56,000
= 28,000
& 14,000
= 14,000
10 JIZHHZ2Z2HsSEs 56,000 0 56,000
OZEA LA S5 2AI21E Hi X 56,000, 000& 56,000
= 28,000
= 14,000
i 14,000
401 AlEHIZ 20| 2,420,000 3,197,857 ANTT7,857
= 1,520,000
& 338,000
= 562,000
01 A&l 2,400,000 3,182,857 AT82,857
O=INE 23 M 2 500,000, 000& 500,000
= 350,000
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M st
. 2sRMEEDL
&l 2R AEE 2 t A
SN BB O (SH) - MRAY - HES 0l o e =
= 52,500
o 97,500
OgXIZn & 400,000,000& 400,000
= 200,000
& 70,000
i 130,000
Oz&elsas4ag FHl 200,000, 000& 200,000
= 140,000
& 21,000
[ 39,000
O=dcMaESAE Ehl 300,000,000 300,000
= 210,000
= 31,500
o 58,500
OCEgusii=z= &t 300,000,000 300,000
= 210,000
& 31,500
o 58,500
OEsss=28l 300,000, 000& 300,000
= 210,000
& 31,500
= 58,500
OZEMN UHSHE 5 EMALE 2= 400,000,000& 400,000
= 200,000
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SN RHBBI
M BoriEE2C
el StraEEae CHel: & 2l
SN EY O (BH) - MR - Ba= o e =2t
= 100,000
o 100,000
03 Al&=CHYI 20,000 15,000 5,000
O2a =T L A 20,000,000 20,000
EXNE Zs = 1,025,000 1,025,000 0
= 512,500
& 179,375
= 333,125
401 AlEHIL 204 1,025,000 1,025,000 0
= 512,500
& 179,375
= 333,125
01 A&l 1,025,000 997,000 28,000
OEXNEZsM E= 1,025,000, 000 1,025,000
=z 512,500
= 179,375
i 333,125
=stHEE22ldl X3 115,040 115,040 0
= 80,528
& 17,256
i 17,256
101 elz4d| 100,080 100,080 0
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2N 25BB L
. EaRAEE2L
ol ERAEE2C (chel: =3
SA B SA(SH) - MBAY - BES 0 &2 e ==l
101 144 = 70,056
= 15,012
= 15,012
10 JIZAH22ANASES 100,080 100,080 0
O=tXNE2MH S8 2l 100,080,000 100,080
= 70,056
= 15,012
[ia 15,012
201 et 14,960 14,960 0
= 10,472
= 2,244
= 2,244
01 Atf2teld] 14,960 14,960 0
Ogtt==2H| 14,960
—=3JINE 23 S822 s XY 14,960,000& 14,960
= 10,472
= 2,244
[ia 2,244
dSIt=2 B4Exd X 4,060 104,060 100,000
= 4,060
307 QlZtold 4,060 0 4,060
= 4,060
02 QlZtFaEx 4,060 0 4,060
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2N 2st22Z
. ZagaEERL
S B RAEE2 (et &S
SN EH O (S]H) - M A O &b o dd T =32t
O &t o8
—EMAIZ HEE FEFH 8583 * 6 120 618
OAlI&E &H|I s X4l 16,361
-2 222 A2 KA 1,600& * 1,234m’ 1,851
—JlH=&= 3bl 120,000 = 138 1,560
—dH2L SLIEN2 & 2,000,000& * 1CH 2,000
—g=22ana2ssIIR XU 500,000& = 3CH 1,500
—gt=2 HIgE A 2,000,000& 2,000
— 10| =3A HE 2 2,000,000& 2,000
—QIEEAIZ HAESF XY 2,000& * 331m 662
—QIESXAAI 2 HiLEE T Hb| 500,000& = 1CH 500
—SAMMIIE2 HE 7 2,000& = 723m’ 1,446
— S| E 2 HLE 200,000& = 404 800
—SAMMI|E2 U A 1,000,000& * 13| 1,000
—NENEZEL M=) SFH R (LX) 1,389& = 5¢ * 150 1,042
202 O4d] 5,940 6,000 260
01 2o 5,940 6,000 AB0
otz dRFX 165,000& = 3 » 12& 5,940
206 MM ZH| 1,460 2,630 A 1,170
01 =4l 1,460 2,630 A1,170
OM=Hd < 12,000 * 409 * 23] 960
OREEEHML «4=5+7+L 500,000& = 1&8fA 500
401 AIEHIZ2Ub] 38,000 28,500 9,500
01 Al&H| 38,000 28,500 9,500
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2N 2st22Z
H: MSE2s L Algd2e]
@ dN=sgs N3 (et &S
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
OMSHA =l XS 165,000 = 2% = 12& 3,960
203 YR F=Z&H| 600 1,200 A 600
03 AMFAALIFZRYH| 600 1,200 A600
OAFHsUS XS 150,000& = 43| 600
307 QIZ2t0| A 664,000 404,000 260,000
02 0QI2tHAY X 373,000 233,000 140,000
OEMEE Uizl M=l 6,000,000& = 13 6,000
OsHEXZdHE &&HHIUE X 2,000,000& = 13 2,000
O=H0l& M=tHal Izl X3 5,000,000& * 63 30,000
OZ0xM=tz &It XA 180,000, 000& 180,000
OL0MElz 26 =2 XA 5,000,000& 5,000
OHM203 &S E MU EFIKH 55,000,000& 55,000
ON43| BAYT HEal MeEdsUa &I A& 5,000,000& * 13 5,000
Ogsd=xd F320U3 Ml 15,000,000& * 13 15,000
O&=2 ZE=U3 =l 30,000,000& = 13| 30,000
OO0l ZIItsal M= 8,000,000 8,000
A SEANA 2 2,000,000& 2,000
OzE 4=t MOISHIIUE 30,000,000 30,000
OHN203 dAMaEE MEXNIUS I L&A =] 5,000,000 5,000
04 OI2HSHAIE X 281,000 161,000 120,000
OHMbel 2EE=22& StZ0I2IE Ua HA 70,000,000& * 13| 70,000
OZ oA eIt 6,000,000& * 13 6,000
OZoM=E JHEl 160,000,000& = 13] 160,000
O3t bthl d=2s502! "HILIAUE W= 10,000,000& * 13 10,000
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SN 2sBB Y
Bu: gsEs ° Aaze
ool MsEs 1 chol &
e CERI(BIH) - NIRAY - A S Akl e =
OHMbsl &3 MEX=0sal = 35,000,000& * 13 35,000
06 2E= 10,000
OXM=Uz &Etd= 5,000,000 = 23] 10,000
MM X 36,000
307 2IZtol& 36,000
02 QltFAEX 36,000
oagz=id=ss 234l X 18,000,000& 18,000
ozgz=Me=ss 29 XA 18,000, 000& 18,000
MEXE Zz20d XA 18,600
= 6,800
= 11,800
307 gI2told 18,600
= 6,800
= 11,800
02 QltFAEX 18,600
ONeloldsna 4,400,000& 4,400
= 2,200
i 2,200
OFAEXNE A 4,400,000& 4,400
= 2,200
o 2,200
O&F=N=sUs 2 4,800,000& 4,800
= 2,400
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m

40
o
{0

- S (2AH) - MRAY - BES

2A
R
J2H

0l
I

o

5,000,000 x13]

HJ

2,400
5,000

S

H

M

102,900
51,450
51,450

82,320

20,580

307

H

A

102,900
51,450
51,450

82,320

20,580

02

1,715,000& = 5& = 128

H

HJ

102,900
102,900
51,450
51,450

82,320

20,580

H

A

41,160
20,580
20,580

20,580

20,580

307

H

H

41,160
20,580
20,580

20,580

20,580

02

=X =X BHXI AR

1,715,000& = 29 = 128

H

M

41,160
41,160
20,580
20,580

20,580

20,580
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A 2221
H: MSE2s L Algd2e]
ool HRES X (e e
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
sHE 3449 RU&ds X = 10,000
301 LBEtEAZ 20,000 18,000 2,000
= 10,000
== 10,000
02 Hezdstiza 20,000 18,000 2,000
OsHEdEAdE KU Est3 1,000,000& * 209 20,000
= 10,000
o= 10,000
22U S4HX 30,000 30,000 0
308 XXISHMSOIH 30,000 30,000 0
06 wWRIIZNSEEXZ 30,000 30,000 0
OBUL=R s4X& 30,000,000& 30,000
ME = Al 19,600 19,600 0
= 3,920
== 4,573
iy 11,107
307 QIZ2to| A 19,600 19,600 0
= 3,920
= 4,573
o 11,107
02 0QI2tHAYH X 19,600 19,600 0
OMENSNA 2H(0I2) 19,600,000 19,600
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SN 2B
HE: HMSES L Aae
ool HRES X (e e
SA - HM SR (BH) - MRAY - B2 Ofl &+ 04 (%ggi; Hnz2
= 3,920
= 4,573
o 11,107
MEHsU K& 10,000 0 10,000
& 5,000
= 5,000
307 gIz2told 10,000 0 10,000
= 5,000
= 5,000
02 QltFAEX 10,000 0 10,000
OMEISHE X2 5,000,000 * 23] 10,000
= 5,000
i 5,000
S A& 2el 1,375,015 1,724,866 A 349,851
= 423,000
= 952,015
MEHSAIE EX 25,940 645,040 A619,100
202 Oidl 5,940 5,040 900
01 =0l 5,940 5,040 900
OMSEAIE=Z 2l 165,000 = 3H * 12& 5,940
401 Al&EHIL204bI 20,000 640,000 A620,000
01 Al&Hl 20,000 640,000 620,000
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A 2322
M M=sgs ¥ Az
&2 MSsAIL2te (el &)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
OEXl OF7& EHIAY 20,000,000 20,000
SNz 28 1,015,000 710,000 305,000
s 423,000
= 592,000
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